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} Auempting all M(..()s is wmpulsmy This pupu along wnh the OMR >qu must be n.lurmd to the supu.nnu.ndml aﬂcr due time.
) F il} the circle BB, which one is correct with Dlue or black ball point, in this sheet as well as in: scparalc OMR Sheet like ‘
i) [fmore than one cirele in the OMR shcu is. filled then no credll will be given to such answer.
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® 10 *m o ® » . © 100 ® 10u
2. Which one is a pair ol S1 bam, units ? -

®  Ampere, Joule ® Kilogram, Kelvin ©® Coulomb, Second® Meter, Newton
3. A person walks [irst 10 km north and 20 ki east, then the resultant vector is _

® 2236km , 22.46 km © 2523 km ® 20.36km
4. The dot product of vector 7 with itselfis cqual to . » '

® zero Al L © AB ® ABcoso
5. 'The chunge of momentum is called ‘ . B

(®  Acceleration @ Force ©® Impulse ® Power
6. What does not change when force is applicd on a body?

@ Velocity ® Mass © Acceleration ® Position
7. I momentum is increased by 20 % then KLE ipcreases by 7

® 711% ® 66% - © 5% ® 4%
8. Wark done will be negative when angle is _ .

® i 75 © 9 © 108
9. The angular and lincar velocities are related us .

® \"_% | ® =i @ i=ixiv ® §=iixd
10. The angular speed in radian per hours for daily rotation of vur carth is ? .

@ dit @ 2n ® 2 ® /6
1. Bunoulh 5 eguation is basul upon law of conservation of . _ '

® Mass @ Lnergy ® Charge ® Momentum

12, A certain pendulum has an iron bob. When the bob is replaced by a Icad bob.of the same size, it time

period will

® Inercases . Decreases ®  Unchanged @ Double
13, Inan isolated system the total energy of vibrating mass and spring is ' .

® Low ® Constant © Hight ® Variable
L Waveseaory

A Mass ® Density © Momentum @ Lncrpy
15, “The distanee between adjacent node and anti-nede is ) '

® i ® ® ¥ ® 4+ .
16, Which one praves the transvrse nature ol light?

@ Inierlerence © (® Diflraction O Polarization ® Refraction
£7  Fwo bodies aie saidd o be in thermal equilibrinm if they have the same _

© lunperature ® Amountofheat © Specific heat ® Thermal capacities
IS, Cbriple pointofwaterds
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anc' 'l ime nlluwul for section B .md Cis 2 hours and 40 minutes,

SECTION “B” ; . Marks: 40

L - Altunpt au) TE ]\ l'dl‘lb ouf of ﬂu. followmg Each Part carnes equal marks

Why is the Larlh not in thermal Lquxhbrlum with the 5un’7

“Can we apply Huygen’s prmuplc to'radar’ Waves?

What is meant by the dual nature of light?

~Densily of aivis 1.2 kg m™, Change it into gm cm™.

Deling vector product and give two examples.

LExplain why do buses and heavy trucks have large steering wheels?

Acro 27°C, (r =1.66 und R=8334 jk m 01) pl;mc while horizontally drops a bomb when reaches exactly

“above the target, but missed it, Explaing:

When an arrow is shot (rom ils bow, it has K.E. From where does it get the K.E?

Explain the signiﬁcancc of moment of inertia in rotatory motion.,

" Why docs the pipe ol papet-squeczes when air is blown through it?

A bmgu holding a nolc. of n;,ht frequency, ean shatter a glass. L\plam’
Why doces & sourid wave travel Iae.lt,r in sohd than i i pases?

Show that S=r¢ . '

SECT[QN uwen : . Mauarks: 27

Note: Attempt any THREE questions of the following. Each quéstion carries equal Marks.,

HE (4) Whatis elastic collision? Calculate final velocitics of two clastically coliiding bodies in one dimension,

(b) A 1500 kg car has its velocity reduced froni 20 m/s to. 15111/:, in 30 sce. l‘ow l.u'g,c is retarding  force?

Iv. (u) Define terminal vulouly of falling UbJL(.l Usmg 'Sloukt. s law, show that the tmmnal velouly of 2

spherical droplet is given by v, = 208

9y

V. (b) Velocity of water in 6 inch diameter pipé is 5 57 . Find the velocity in 3 inch diameter pipe,

which conneets with it both pipes flow full,

VI (a) What is a simple-pendulum? Show that the motion of a simple pendulum is simple harmonic. ,

(b}

Find the speed of sound in Helium gasat 370¢ (r =1.66 and R = 8334 ,V

k m ul]_‘ -

5
4

V1L (@) Whatis a Carnot Heal Engine? Discuss dilferent steps of Carnot cycle. Also derive expiression for its efficiency? 5

(b}  Find the efficiency of a Camot’s heat engine working between the steamn and ice point.
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